
Product Product
Quantity

Product
Unit of
Measure

Reference BoM
Type Method Routing

[SH­PG0040] BOXT908240 ­ 72mm x 500 Kraft Central ­ 240 Reinforced Tape 0.01 PCE Normal BoM

[SH­PA0014] 3/16X12P12 BUBBLE MASK 0.02 PCE Normal BoM

[HD­MS0026] 3M PET Tape 0.01 PCE Normal BoM

[SH­PG0032] Anti­Static Control Products 3X5 ZIP 1.00 PCE Normal BoM

[KT­CP0055] SD card w ith TAZ 3.1 f iles 1.00 PCE Normal BoM On Stock

[EL­MS0119] SD card from GLCD kit 1.00 PCE Normal BoM On Stock

[DC­LB0007] Label, Top of Box 1.00 PCE Normal BoM

[DC­LB0016] TAZ v3.1 bar code and serial number sticker 1.00 PCE Normal BoM

[DC­MS0019] TAZ 3 quick print instructions, #3 1.00 PCE Normal BoM

[DC­MS0018] TAZ 3 set up instructions, #2 1.00 PCE Normal BoM

[DC­MS0017] TAZ 3 unpacking instructions, #1 1.00 PCE Normal BoM

[HD­NT0007] M4 Wing Nut, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­BT0030] Metric 8.8 Zinc­Pltd Steel Hex Head Cap Screw  M4 Size, 20mm Length, .7mm Pitch, Fully Threaded 4.00 PCE Normal BoM

[PP­GP0108] Shipping clamp, b 4.00 PCE Normal BoM On Stock

[RM­AB0083] Red ABS 3mm Filament, 5lb Reel 3.00 g Normal BoM

[PP­GP0107] Shipping clamp, a 4.00 PCE Normal BoM On Stock

[RM­AB0083] Red ABS 3mm Filament, 5lb Reel 3.00 g Normal BoM

[SH­BX0025] 10x8x2­1/2 32 Ect B Brow n Roll End Tuck Mailer, Custom Box 1.00 PCE Normal BoM

[SH­BX0032] 30x24x13 CUSTOM BOX 1.00 PCE Normal BoM

[SH­PA0020] Fabricated Foam Insert: 2 End Caps, Tray w /Plastic Corrugated & Plain Pad, v3 1.00 PCE Normal BoM

[RM­AB0079] ABS 3mm, 1m f ilament sample, LulzBot green 1.00 PCE Normal BoM On Stock

[RM­AB0027] LulzBot Green ABS 3mm Filament, 5lb Coil 1.00 Coil, 5lb Normal BoM

[DC­MS0016] Packing List, TAZ 3.1 1.00 PCE Normal BoM

[TL­MS0019] Tool Kit, TAZ 1.00 PCE Normal BoM

[HD­MS0058] Wire Tie, 8" 4.00 PCE Normal BoM

[DC­MN0008] Lulzbot­Taz 3.1 User Manual 1.00 PCE Normal BoM

[MK­MS0014] 3D PRINTED OCTOPUS­MINI 1.00 PCE Normal BoM

[KT­CP0054] TAZ 3.1 Calibration assembly 1.00 PCE Normal BoM On Stock

[KT­CP0053] TAZ 3.1 Final Assembly 1.00 PCE Normal BoM On Stock

[KT­CP0033] Frame XZ Assembly, TAZ 1.00 PCE Normal BoM On Stock

[KT­CP0034] Frame Assembly, TAZ 1.00 PCE Normal BoM On Stock

[PP­FP0013] Z top f lat 2.00 PCE Normal BoM

[PP­FP0014] Z top side f lat 2.00 PCE Normal BoM

[PP­FP0012] Frame Connector v2.0 7.00 PCE Normal BoM

[PP­FP0011] TAZ name plate, laser cut 1.00 PCE Normal BoM

[PP­GP0099] Y Mount Chassis v1.3, TAZ 4.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 11.00 g Normal BoM

[PP­IS0012] Z motor mount, TAZ w ith inserts for Left 1.00 PCE Normal BoM On Stock

[PP­GP0102] Z motor mount, TAZ 1.00 PCE Normal BoM On Stock

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 2.00 PCE Normal BoM

[PP­IS0013] Z motor mount, TAZ w ith inserts for Right 1.00 PCE Normal BoM On Stock

[PP­GP0102] Z motor mount, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 98.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 1.00 PCE Normal BoM

[KT­CP0047] Spool Arm, TAZ w ith bushing 1.00 PCE Normal BoM On Stock

[PP­GP0109] Spool Arm, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 21.00 g Normal BoM

[HD­MS0062] Metric Aluminum Unthreaded Spacer, 8MM OD, 8MM Length, M5 Screw  Size 1.00 PCE Normal BoM

[PP­GP0090] Feed tube holder 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 7.00 g Normal BoM

[HD­EX0010] Aluminum Frame, extrusion 20mm x 20mm x 500mm, black 4.00 PCE Normal BoM

[HD­EX0011] Aluminum Frame LTP, extrusion 20mm x 20mm x 500mm,Tapped M5x0.8 on one End, black 4.00 PCE Normal BoM

[HD­BT0048] Metric Class 12.9 Socket Head Cap Screw  Alloy Steel, M5 Thread, 10mm Length, 0.80mm Pitch 64.00 PCE Normal BoM

[HD­BT0049] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M5 thread, 14MM length, 0.80MM pitch 1.00 PCE Normal BoM

[HD­WA0007] M5 Washer, Steel, Zinc Plated 63.00 PCE Normal BoM

[HD­NT0017] Slide in t­nuts for Aluminum Frame, M5 59.00 PCE Normal BoM

[KT­CP0032] LCD Case Assembly, TAZ 1.00 PCE Normal BoM

[KT­CP0036] Electronics Case Assembly, TAZ 1.00 PCE Normal BoM On Stock

[PP­FP0006] Sheet metal enclosure, black anodized 1.00 PCE Normal BoM

[PC­BD0028] RAMBo 1.2e controller board 1.00 PCE Normal BoM On Stock

[PC­AS0029] RAMBo 1.2e Kit 1.00 PCE Normal BoM

[PP­IS0003] Enclosure upper strain relief v2.2, TAZ w ith inserts 1.00 PCE Normal BoM On Stock

[PP­GP0112] Enclosure upper strain relief v2.2, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 14.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 6.00 PCE Normal BoM



[HD­BT0044] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 5MM Length, 0.50MM Pitch 4.00 PCE Normal BoM

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 3.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 3.00 PCE Normal BoM

[KT­CP0028] X End Motor Assembly, TAZ 1.00 PCE Normal BoM On Stock

[PP­IS0006] X motor mount, TAZ w ith inserts 1.00 PCE Normal BoM On Stock

[PP­GP0095] X motor mount, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 54.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 8.00 PCE Normal BoM

[PP­GP0084] Double bearing holder 1.00 PCE Normal BoM On Stock

[EL­HR0016­2] Motor w ires ­2 1.00 PCE Normal BoM

[HD­MS0033] GT2, 16 Teeth, timing pulley, AL 1.00 PCE Normal BoM

[KT­CP0039] M3 x 25 SHCS w ith red thumb screw 1.00 PCE Normal BoM On Stock

[HD­BT0041] Metric Class 12.9 Socket Head Cap Screw  Alloy Steel, M3 Thread, 25mm Length, 0.50mm Pitch 1.00 PCE Normal BoM

[HD­MS0056] Metric Press­f it Plastic Thumb Screw  Head Knurled, Red, Fits M3 Screw , 9.6mm A, 4.4mm B 1.00 PCE Normal BoM

[HD­MS0009] Spring, 4.6mm OD, 0.5mm WD, 19mm 1.00 PCE Normal BoM

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 8.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 9.00 PCE Normal BoM

[KT­CP0029] X End Idler Assembly, TAZ 1.00 PCE Normal BoM On Stock

[PP­IS0004] X bearing mount w ith inserts 1.00 PCE Normal BoM On Stock

[PP­GP0092] X bearing mount 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 54.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 6.00 PCE Normal BoM

[PP­GP0084] Double bearing holder 1.00 PCE Normal BoM On Stock

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 4.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­BT0059] M8 x 35 Bolt, BHCS Black­Oxide 1.00 PCE Normal BoM

[HD­WA0006] M8 Washer, Steel, Zinc Plated 3.00 PCE Normal BoM

[HD­NT0002] M8 Nyloc Nut, Zinc Plated 1.00 PCE Normal BoM

[HD­MS0013] 608 Bearing 2.00 PCE Normal BoM

[KT­CP0030] X Carriage Assembly, TAZ 1.00 PCE Normal BoM On Stock

[PP­IS0005] X carriage, TAZ w ith inserts 1.00 PCE Normal BoM On Stock

[PP­GP0093] X carriage, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 74.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 15.00 PCE Normal BoM

[PP­GP0094] X carriage guide 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 8.00 g Normal BoM

[PP­GP0084] Double bearing holder 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 31.00 g Normal BoM

[HD­BU0001] DryLin® R ­ Solid polymer bearing RJM­01, 10mm 2.00 PCE Normal BoM

[PP­GP0117] Bearing Holder v1.1b, TAZ 1.00 PCE Normal BoM On Stock

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 12.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 12.00 PCE Normal BoM

[KT­CP0031] Print Head Assembly, TAZ 1.00 PCE Normal BoM On Stock

[KT­CP0035] Extruder Assembly 1.00 PCE Normal BoM On Stock

[PP­GP0058] Wade Reloaded Extruder Block 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 42.00 g Normal BoM

[PP­GP0060] Wade Reloaded Bearing Washer 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 1.00 g Normal BoM

[PP­GP0062] Reloaded herringbone small gear 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 4.00 g Normal BoM

[KT­CP0042] Large herringbone gear w ith hobbed bolt 1.00 PCE Normal BoM On Stock

[PP­GP0061] Reloaded herringbone large gear 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 25.00 g Normal BoM

[HD­BT0028] Hobbed Bolt, M8 x 60mm Hex head, Stainless Steel 1.00 PCE Normal BoM On Stock

[PP­GP0091] Extruder latch 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 3.00 g Normal BoM

[EL­HR0016­2] Motor w ires ­2 1.00 PCE Normal BoM

[KT­CP0038] Extruder Idler w ith Bearing 1.00 PCE Normal BoM On Stock

[PP­GP0059] Wade Reloaded Idler Block 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 10.00 g Normal BoM

[HD­MS0073] 100 608ZZ Skateboard/Inline Skate/Rollerblade/Hockey Bearing Ball Bearings 1.00 PCE Normal BoM

[HD­RD0004] 8mm Smooth Rod x 18­19mm, Stainless Steel 1.00 PCE Normal BoM On Stock

[HD­MS0013] 608 Bearing 2.00 PCE Normal BoM

[HD­MS0027] Extruder Comp Spring ­ Music Wire 2.00 PCE Normal BoM

[HD­BT0012] M3 Set Screw  (Grub Screw ) 1.00 PCE Normal BoM

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 4.00 PCE Normal BoM

[HD­BT0041] Metric Class 12.9 Socket Head Cap Screw  Alloy Steel, M3 Thread, 25mm Length, 0.50mm Pitch 1.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­NT0004] M3 Nut, Steel, Zinc Plated 2.00 PCE Normal BoM



[HD­NT0004] M3 Nut, Steel, Zinc Plated 2.00 PCE Normal BoM

[KT­CP0040] M4 x 55 SHCS w ith black thumb screw 2.00 PCE Normal BoM On Stock

[HD­BT0052] Metric Class 12.9 Socket Head Cap Screw  M4 Thread, 55mm Length, 0.70mm Pitch 1.00 PCE Normal BoM

[HD­MS0031] Metric Press­Fit Plastic Thumb Screw  Head Knurled, Black, Fits M4 Screw , 13mm A, 5.5mm B 1.00 PCE Normal BoM

[HD­NT0011] M4 Nut, Steel, Zinc Plated 2.00 PCE Normal BoM

[HD­WA0005] M4 Washer, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­NT0002] M8 Nyloc Nut, Zinc Plated 1.00 PCE Normal BoM

[HD­WA0006] M8 Washer, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­WA0008] Metric Spring Steel Shim ­ DIN 988 0.5mm Thick, 8mm ID, 14mm OD 1.00 PCE Normal BoM

[HD­WA0009] Metric Spring Steel Shim ­ DIN 988 1.0mm Thick, 8mm ID, 14mm OD 1.00 PCE Normal BoM

[HE­SH0016] Budaschnozzle 2.0, 0.35mm Nozzle, for assembly 1.00 PCE Normal BoM

[PP­IS0001] Extruder mount, TAZ w ith inserts 1.00 PCE Normal BoM On Stock

[PP­GP0096] Extruder mount, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 67.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 4.00 PCE Normal BoM

[HD­NT0011] M4 Nut, Steel, Zinc Plated 2.00 PCE Normal BoM

[HD­WA0005] M4 Washer, Steel, Zinc Plated 2.00 PCE Normal BoM

[HD­BT0010] M4 x 20 Bolt, SHCS Black­oxide 2.00 PCE Normal BoM

[KT­CP0048] Drive rod assembly, double nut, TAZ 2.00 PCE Normal BoM On Stock

[HD­RD0021] M6 Threaded Rod, Stainless Steel, 410mm 1.00 PCE Normal BoM On Stock

[HD­MS0143] Steel Compression Spring, Zinc­Plated Spring­Tempered, 1.0" L,.313" OD, .029" Wire 1.00 PCE Normal BoM

[HD­NT0029] Metric Brass Hex Nut, M6 Size, 1 mm Pitch, 10 mm Width, 5mm Height 2.00 PCE Normal BoM

[PP­IS0014] Z nut spring M6 v2.0, TAZ w ith inserts 1.00 PCE Normal BoM On Stock

[PP­GP0119] Z nut spring M6 v2.0, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 15.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 4.00 PCE Normal BoM

[HD­TB0023] Watts SVFD20 Pre­Cut 5/16­Inch Diameter by 3/16­Inch Clear Vinyl Tubing 4.00 cm Normal BoM

[EL­HR0016­1] Motor w ires ­1 1.00 PCE Normal BoM

[EL­HR0016­2] Motor w ires ­2 1.00 PCE Normal BoM

[HD­RD0018] 10mm Smooth Rod, Stainless Steel, 500mm 4.00 PCE Normal BoM On Stock

[HD­MS0059] Standard Nylon Cable Tie, 7­1/2" L, 1­7/8" Bundle Diameter, 50# Tensile Strength, Black, Packs of 100 4.00 PCE Normal BoM

[HD­BL0009] GT2 1164mm by 6mm belt 1.00 PCE Normal BoM

[HD­BT0012] M3 Set Screw  (Grub Screw ) 2.00 PCE Normal BoM

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 27.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 23.00 PCE Normal BoM

[HD­BT0057] Class 10.9 Stl Button Head Socket Cap Screw  M8 Size, 35 Mm Length, 1.25 Mm Pitch 8.00 PCE Normal BoM

[HD­WA0007] M5 Washer, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­NT0017] Slide in t­nuts for Aluminum Frame, M5 4.00 PCE Normal BoM

[KT­CP0052] Y axis assembly v1.1, TAZ 1.00 PCE Normal BoM On Stock

[PP­IS0007] Y Corner Left v1.2, TAZ w ith inserts 2.00 PCE Normal BoM On Stock

[PP­GP0113] Y Corner Left v1.2, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 21.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 1.00 PCE Normal BoM

[HD­MS0060] Metric Brass Heat­Set Insert For Plastics Tapered, M5­.8 Internal Thread, 11.1mm Length 1.00 PCE Normal BoM

[PP­IS0008] Y Corner Right v1.2, TAZ w ith inserts 2.00 PCE Normal BoM On Stock

[PP­GP0114] Y Corner Right v1.2, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 21.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 1.00 PCE Normal BoM

[HD­MS0060] Metric Brass Heat­Set Insert For Plastics Tapered, M5­.8 Internal Thread, 11.1mm Length 1.00 PCE Normal BoM

[KT­CP0045] Y Axis End Idler Assembly 1.00 PCE Normal BoM On Stock

[PP­FP0015] Y Axis End Idler 1.00 PCE Normal BoM

[PP­GP0115] Y Bearing Mount v2.6.b, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 10.00 g Normal BoM

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 4.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­NT0004] M3 Nut, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­BT0059] M8 x 35 Bolt, BHCS Black­Oxide 1.00 PCE Normal BoM

[HD­WA0006] M8 Washer, Steel, Zinc Plated 2.00 PCE Normal BoM

[HD­NT0002] M8 Nyloc Nut, Zinc Plated 1.00 PCE Normal BoM

[HD­MS0013] 608 Bearing 2.00 PCE Normal BoM

[KT­CP0046] Y Axis End Motor Assembly 1.00 PCE Normal BoM On Stock

[PP­FP0016] Y Axis End Motor 1.00 PCE Normal BoM

[PP­IS0010] Y Motor Mount v2.4, TAZ w ith inserts 1.00 PCE Normal BoM On Stock

[PP­GP0116] Y Motor Mount v2.4, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 31.00 g Normal BoM

[PP­MP0066] Metric Brass Heat­Set Insert for Plastics, Tapered, M2­.4 Internal Thread, 2.9MM Length 2.00 PCE Normal BoM

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 4.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­NT0004] M3 Nut, Steel, Zinc Plated 1.00 PCE Normal BoM



[HD­NT0004] M3 Nut, Steel, Zinc Plated 1.00 PCE Normal BoM

[KT­CP0051] Y Plate Assembly v1.1, TAZ 1.00 PCE Normal BoM On Stock

[PP­MP0045] 300 x 300mm Bed Mount Plate 1.00 PCE Normal BoM

[PP­IS0009] Y belt mount w ith inserts 1.00 PCE Normal BoM On Stock

[PP­GP0098] Y belt mount 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 26.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 8.00 PCE Normal BoM

[PP­IS0002] Bearing Holder v1.1b, TAZ w ith inserts 4.00 PCE Normal BoM On Stock

[PP­GP0117] Bearing Holder v1.1b, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 12.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 4.00 PCE Normal BoM

[PP­GP0083] Bed Finger 4.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 1.00 g Normal BoM

[PP­IS0015] Bed Corner v2.5, TAZ w ith insert 4.00 PCE Normal BoM On Stock

[PP­GP0118] Bed Corner v2.5, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 3.00 g Normal BoM

[HD­MS0030] Metric Brass Heat­Set Insert for Plastics Tapered, M3­.5 Internal Thread, 3.8mm Length 1.00 PCE Normal BoM

[PP­GP0086] Belt clamp, TAZ 2.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 1.00 g Normal BoM

[HD­MS0027] Extruder Comp Spring ­ Music Wire 4.00 PCE Normal BoM

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 36.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 32.00 PCE Normal BoM

[PP­IS0011] Y mount table w ith insert 4.00 PCE Normal BoM On Stock

[PP­GP0100] Y mount table 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 7.00 g Normal BoM

[HD­MS0060] Metric Brass Heat­Set Insert For Plastics Tapered, M5­.8 Internal Thread, 11.1mm Length 1.00 PCE Normal BoM

[HD­EX0012] Aluminum Frame TPW, extrusion 20mm x 20mm x 500mm,Tapped M5x0.8 on both Ends, black 2.00 PCE Normal BoM

[HD­RD0018] 10mm Smooth Rod, Stainless Steel, 500mm 2.00 PCE Normal BoM On Stock

[EL­HR0016­2] Motor w ires ­2 1.00 PCE Normal BoM

[HD­MS0033] GT2, 16 Teeth, timing pulley, AL 1.00 PCE Normal BoM

[EL­SW0011] OMRON Sw itch Snap Action N.O./N.C. SPDT Simulated Roller Lever Quick Connect 3A 125VAC 30VDC 0.5N Screw  Mount 1.00 PCE Normal BoM

[EL­HR0023] Y extension assembly, #5 1.00 PCE Normal BoM On Stock

[HD­BL0009] GT2 1164mm by 6mm belt 1.00 PCE Normal BoM

[HD­BT0038] Metric Class 12.9 Socket Head Cap Screw  Alloy Steel, M2 Thread, 12mm Length, 0.4mm Pitch 2.00 PCE Normal BoM

[HD­WA0012] Steel Flat Washer, DIN 125 zinc­plated class 4,M2 screw  sz, 5mm OD, .25mm­.35mm thick 2.00 PCE Normal BoM

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 4.00 PCE Normal BoM

[HD­BT0012] M3 Set Screw  (Grub Screw ) 4.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­BT0048] Metric Class 12.9 Socket Head Cap Screw  Alloy Steel, M5 Thread, 10mm Length, 0.80mm Pitch 20.00 PCE Normal BoM

[HD­WA0007] M5 Washer, Steel, Zinc Plated 20.00 PCE Normal BoM

[HD­NT0017] Slide in t­nuts for Aluminum Frame, M5 12.00 PCE Normal BoM

[HD­MS0058] Wire Tie, 8" 1.00 PCE Normal BoM

[EL­HR0026] Z sw itch extension assembly, #1 1.00 PCE Normal BoM On Stock

[EL­HR0008] Z sw itch extension, TAZ 1.00 PCE Normal BoM

[EL­MS0073] Tubing Corrugated Loom .25" x 100' 10.00 cm Normal BoM

[EL­SW0011] OMRON Sw itch Snap Action N.O./N.C. SPDT Simulated Roller Lever Quick Connect 3A 125VAC 30VDC 0.5N Screw  Mount 1.00 PCE Normal BoM

[HD­MS0058] Wire Tie, 8" 2.00 PCE Normal BoM

[EL­HR0027] Z right motor extension assembly, #2 1.00 PCE Normal BoM On Stock

[EL­HR0017­3] Motor extension ­3 1.00 PCE Normal BoM

[EL­MS0073] Tubing Corrugated Loom .25" x 100' 52.00 cm Normal BoM

[EL­HR0028] X extension assembly, #3A 1.00 PCE Normal BoM On Stock

[EL­HR0017­2] Motor extension ­2 1.00 PCE Normal BoM

[EL­HR0010­1] X sw itch extension long, TAZ 1.00 PCE Normal BoM

[EL­MS0073] Tubing Corrugated Loom .25" x 100' 47.00 cm Normal BoM

[EL­HR0029] X sw itch extension assembly, #3B 1.00 PCE Normal BoM On Stock

[EL­HR0010­2] X sw itch extension short, TAZ 1.00 PCE Normal BoM

[EL­MS0073] Tubing Corrugated Loom .25" x 100' 12.00 cm Normal BoM

[EL­HR0025] Print head extension, #4 1.00 PCE Normal BoM On Stock

[EL­HR0024] Budaschnozzle extension, 1300mm 1.00 PCE Normal BoM On Stock

[EL­HR0017­4] Motor extension ­4 1.00 PCE Normal BoM

[EL­MS0073] Tubing Corrugated Loom .25" x 100' 120.00 cm Normal BoM

[EL­HR0023] Y extension assembly, #5 1.00 PCE Normal BoM On Stock

[EL­HR0017­1] Motor extension ­1 1.00 PCE Normal BoM

[EL­HR0009­1] Y sw itch extension long, TAZ 1.00 PCE Normal BoM

[EL­MS0073] Tubing Corrugated Loom .25" x 100' 40.00 cm Normal BoM

[EL­HR0022] Heat bed extension assembly, #6 1.00 PCE Normal BoM On Stock

[EL­HR0006] Heat bed extensions 1.00 PCE Normal BoM

[EL­MS0073] Tubing Corrugated Loom .25" x 100' 52.00 cm Normal BoM

[EL­HR0005] LCD Wire Harness 1.00 PCE Normal BoM



[PP­FP0007] Relief shield, black anodized 1.00 PCE Normal BoM

[PP­GP0111] Enclosure low er strain relief v2.4, TAZ 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 7.00 g Normal BoM

[HD­MS0054] Bumper Square, rubber 8.00 PCE Normal BoM

[HD­MS0058] Wire Tie, 8" 17.00 PCE Normal BoM

[HD­BT0012] M3 Set Screw  (Grub Screw ) 2.00 PCE Normal BoM

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 3.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 3.00 PCE Normal BoM

[KT­CP0041] M5 x 14 SHCS w ith black thumb screw 4.00 PCE Normal BoM On Stock

[HD­BT0049] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M5 thread, 14MM length, 0.80MM pitch 1.00 PCE Normal BoM

[HD­MS0055] Metric Press­Fit Plastic Thumb Screw  Head Knurled, Black, Fits M5 Screw , 16mm A, 6.5mm B 1.00 PCE Normal BoM

[KT­CP0043] 300mm heat bed assembly, 24V 1.00 PCE Normal BoM On Stock

[HD­MS0002­3] Borosilicate Glass Bed 300mm x 300mm x 1/8" 1.00 PCE Normal BoM

[PC­BD0027] Silicon Heater, 24V ,360W, 298mm x 298mm, Self  Adhesive, w / connectors 1.00 PCE Normal BoM

[HD­MS0145] Tape, 12.25 x 12.25 PET, Green 1.00 PCE Normal BoM

[EL­SW0011] OMRON Sw itch Snap Action N.O./N.C. SPDT Simulated Roller Lever Quick Connect 3A 125VAC 30VDC 0.5N Screw  Mount 1.00 PCE Normal BoM

[HD­NT0004] M3 Nut, Steel, Zinc Plated 2.00 PCE Normal BoM

[EL­HR0021] Pow er through case assembly, TAZ 1.00 PCE Normal BoM

[HD­BT0053] 18­8 Stainless Steel Flat Head Phillips Machine Screw , Black­Oxide Finish, 4­40 Thread, 1/4" Length 4.00 PCE Normal BoM

[EL­SW0010] SWITCH ROCKER DPST 20A 250V (C1350AABB­602AW) 1.00 PCE Normal BoM

[EL­MS0073] Tubing Corrugated Loom .25" x 100' 6.00 cm Normal BoM

[KT­CP0037] Case Fan Assembly, TAZ 1.00 PCE Normal BoM On Stock

[KT­CP0050] 80mm fan w iring assembly, TAZ 1.00 PCE Normal BoM On Stock

[EL­FA0003] 80x80x15mm 12V DC Fan 1.00 PCE Normal BoM

[PC­CN0001] CONN HOUSING 2POS .100 W/LATCH 1.00 PCE Normal BoM

[EL­MS0059] CONN TERM FEMALE 22­24AWG TIN 2.00 PCE Normal BoM

[PP­FP0010] Electronics cover metal, black anodized 1.00 PCE Normal BoM

[HD­BT0041] Metric Class 12.9 Socket Head Cap Screw  Alloy Steel, M3 Thread, 25mm Length, 0.50mm Pitch 4.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 4.00 PCE Normal BoM

[HD­NT0004] M3 Nut, Steel, Zinc Plated 4.00 PCE Normal BoM

[EL­HR0020] 24vDC Pow er supply assembly 1.00 PCE Normal BoM

[HD­BT0039] Metric Class 12.9 Socket Head Cap Screw , Alloy Steel, M3 Thread, 12MM Length, 0.50MM Pitch 4.00 PCE Normal BoM

[HD­WA0001] M3 Washer, Steel, Zinc Plated 4.00 PCE Normal BoM

[EL­CA0001] 6ft USB 2.0 A Male to B Male 28/24AWG Cable 1.00 PCE Normal BoM

[KT­CP0044] Feet tube assembly, TAZ 1.00 PCE Normal BoM On Stock

[PP­GP0074] Feed Tube Spinner 1.00 PCE Normal BoM On Stock

[RM­AB0082] Black ABS 3mm Filament, 5lb Reel 6.00 g Normal BoM

[HD­TB0007] Feed Tube, PTFE, 1' Length 85.00 cm Normal BoM

[HD­MS0058] Wire Tie, 8" 2.00 PCE Normal BoM

[DC­MS0014] Quality checklist, TAZ 3.1 1.00 PCE Normal BoM

[DC­MS0015] Test/Acceptance record TAZ 3.1 1.00 PCE Normal BoM

[RM­AB0084] Natural ABS 3mm Filament, 5lb Reel 10.00 g Normal BoM

[EL­CA0030] 6ft 18AWG Pow er Cord Cable w / 3 Conductor PC Pow er Connector Socket (C13/5­15P) ­ Black, 5279 1.00 PCE Normal BoM

[DC­LB0014] TAZ v3.1 serial number sticker 2.00 PCE Normal BoM

[DC­LB0015] 24VDC sticker 1.00 PCE Normal BoM


